
1
WaveGenB.stl

6 x M3 15mm

M3 10mm

606ZZ Bearing

WaveGenA .stl



2 Remove original screws.
元のネジを外す。

4 x M3 35mm

M3 6mm

6 x M4 Nut

4 x M3 12mm

MotorHolderA.stl

MotorHolderB.stl



3
Allow 1~2mm
clearance between
WaveGenerater and
MotorHolder.

ウェーブジェネレーターと
モーターホルダーの隙間を
１～２mm確保する。



Fit the bearings firmly
so that they do not tilt
with a hammer, etc.

Temporary fixing
screws make
assembly easier later.

M3 15mm

12 x M4 Insert Nut

ベアリングを傾きがない
ようしっかり嵌める。

MainHouseing_v2.stl

Circular79T.stl4



M3 6mm

6812ZZ Bearing

4 x M4 20mm

BearingHolderB.stl

5

OutputShaft.stl

OutputPlate.stl

2 x M8 Thin Type 5mm Nut
2 x M6 Nut



CupGear_TPU_v2.stl

Apply grease !
グリースを塗ってください。

4 x M4 25mm

6



7

6 x M3 35mm

6 x M4 Nut

BearingHolderA.stl



8

The projection is always below.
突起は常に下。



9


